1688 R D — R EFEMHAERICE TS HENROBHE SV LAREARHER—E

PERE
. _ - e B #5 R [Ba/ke] IR R[Ba/ke] a5t
#HEA HmETF &4 B 7E B ER £ X3 HI%E B BIERNE
VN KVAE S VNEYIR Ay VN KR VN KV NS Sy WA
_ = 7H6 R (7amheR : :
BEE |[S0Em SOEREREE L S [ TR R A6E | EfERUERRD) 628 7> 161 135] 1382
92-1 7H6H BRRSY 44 50 419 5.04 93
IR GRRRTR IR S5 e IR
. v o —rm . 7888 |’RE 1, 1, 41 ,
BER |RAESEBSMEE  |EF-IBCARERR LA TR G-2-1 R8B Inmen 600 800 39| 3400
7B8H ERRSY 150 180 17 17 330
i 7A158 IR 2,100 2,300 20 20| 4,400
FER |FEH FERFEARTS il dei RY-T0 BMATY 4 51 10 10 97
7B 15H TARRTRIR 6,200 6,750 30 30| 12,950
68278 RRARSY 221 238 14 12 459
68278 AR IKE L 33,500| 37,300 140 120[ 70,800
i - 7B3H RRRSY 167 198 13 11 365
FEE |Hm HMHE=ERTS KR E56-2 o EERD
7R3H SRBLARIKE L 29,700/ 33,000 130 110 62,700
7R4H RRRSY 180 188 16 11 368
7R4H AR IKE L 28,800/ 32,000 120 100/ 60,800
gt = TR g 1) o= 68288 RN R 1,040 1,140 29 ,
FRR (REHASHAARES (To o iRR ) [ TRAREH =R A JERITRIX 28) 2180
v 68 28H AR SY 163 183 14 12 346
e R EN L GARRAR K &
. - o 78198 ! 551 632 21 ,
RS |SENEEEA HY—tm— S TS AR 1526k | 0 |AREDER) e
7A198 254 15 12 7 9 27
WEE |S+=@t z%rﬁiﬂztya— = H AR R < 4 EH/INBE 690 7A218 fl?E_iI]TT%_Jﬂ_(“ 382 431 18 14 813
BX 7H21H BRRSY THRE| AEE 13 14| A&
i j j 7878 ERN e IR 152 179 22 23 1
HER |[EEH AT — s ST 301 bt ERDC %
7R7H RRIRSY 25 30 13 13 55
N i 7B4H MR 122 127 19 16 249
HER |FHET BLERIS Tiﬂgﬁzmni 7H4R AR 206 236 15 14 442
7R4H BBRSY Tl TBre 10 10| A&

(168 IR D — AR BEE YR ATERICH 1T DB DSV LIREAERRICONT

BiEY Tri23%F8H29H AKX T—44&Y)




